0%\ \

~ L
\Aq \\, Y‘l x’_ L\

T

\\V'z \,L\ _ \L[ Lot & Y
N

ig \
Y VRN N

‘z(f \\/z 3 t\ \ L \ou¥ 0 L

\ L
H (050)

< x\J\-) (’) \

equasion | 5oV
X7 o ©

Y st O

Xz LoD

AR

- \ o e
N epd0 db = b \ w4

‘ -I_(') \' (/0 () ( J i - Q/\ -
S RS ~

< \‘;‘\i {\)

2-1¢ % N 1

(,\\ﬂ = {)(‘O(KQ) C&D

froco

\ .
i L
k .

b : -
LSO 09
|

1

ARSI

|

\ A0\ = \Q,\.V\Y" O




L/ i Ve sl

\I o\ [/C) {J\A} \C/)

=

A= (a0)
Aps)= a4 A57) 7

Vol = \" v (1Y) AX
F-":S

Ar ((\\ 9 'q?/} sl é\ (,l ﬂ'\

Yickes Cadivs = F\W

ey = 10 ()




